2-94. In the 2004 presidential election, exit polls from the
critical state of Ohio provided the following results:

total Bush, 2004 Kerry, 2004
no college degree (62%) 50% 50%
college graduate (38%) 53% 46%

What is the probability a randomly selected respondent voted
for Bush?

e o given o Lunck of codonl ngﬂﬁy’h"l’fes o s
g A e e o sled o fld Hhe plain ol
pr-uéw.éf /‘7 @‘g Sorvwﬁni"‘f) (”‘5 og(aoyé) fo (ﬂm? asked
Gl o~ condiionsl p eobbf f\’)rv, o S‘orvw-\“uw)) |

Lé/" 1?) = o evnd ot U rmalohlbf sf,éwu prion uﬂ"j Aj_, ‘fgmt\
e o loking L P(B), ffs st Fh laws of el probalildy <

P(R) = ZZP(@ A P(A)

P

J"’

The endire Scz.rvp{-t Speace 19 Pﬂﬁqp jate R ﬂ[zsjoia-f" ( ”’l‘—v')l‘datlﬁl {x;fus)m)
Grops (ie., n=2) :
AI = fho evert Jlo ‘mpowdew# Ihas no m/{x%‘* (/’&ﬁ/ A

Az,: oo event Hor respargéewp :{l_‘g G C@{{ﬂagp&ﬁ/cc

P(B)= PBIA)PA) + P(r|A)PA.)
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